P ———

@ e

(ﬁ) 9 \—/wfu“ dDO”)/

».J)/*""u"}‘ @

OU..;/ \_/C(_{[_;,a/,f(/u)} P OJ e P

N O -
g VR ~
- —-""’T—’CC'-_CJ\B ' a
/ / 31+280 < VA Bt
\\ )
R, = To
4// 2 O

\
R, = 500m |

:

/| -

\/'\ ?’!"” }*")’{/@ﬂ//lﬂ’/‘) + LOM-"’
o & A /J//f.("“’



Ko - RaCosT - (R, - R,) i R -

-

Sfﬂ _I
T . Re-RicsI+ (R -R,)Cosn, 4
Fin 1 |

Dy T sinl _ R, C{~CosI)
H =L . b3 T @

‘—TC; ’rTJoCaSI R, “:mI

' ) ] o
@,JJ/// 4 _QD_,__Q——Q ,J)‘de.hl. {A] A] CJ;"’S"’M’/I; 1}»,\,:-"/

ST

I‘AT :bz [l w e e Dl

Az_ = I"A{ / :;——l}(.:ﬂ-“/’/:’Az
o

e e L E. 4._-—4[-"-“&{ e ¥ (el

SVgeEn g, AR
o — im
L S LD LLELJ
/o

|

;)/)ff/[i;"U); )b, R| L,

/ . S|
,%f)/ffwuﬂyd’y - R 2 Az
(B e ’
_Mj)p\);?t;w,u (C}ln;fj/w‘-’, )C/xOU' //"‘}3{"’ LJ




- e
i \_JU)LL‘./’/O'L// RZ . =

Cd b Ly S ] D



ghi 2ol 2h s 360 — XK=

L = O’u/&;’p’(//ﬁ 5_758_2{ —= 2ob =

180

b e L 180+ 2/3 o

:7 200:

2 500 . 2x 1 2C

Z

/_Z-x é‘Ox(
(80

= Yz

- £o

150 +2/>— b0 = (52 40

o

200

B

-

NC
) /
it - e Qs ~— ("

J A~ = lo5 -75 =30 =

3
7

S = (=4 (ff“‘wjﬂ//(-é——-’\/ M gt

m s

217 =109 + 212
“‘1"" 212 - 198
&9 »m3 183948

Wy

(Wé_r“wujg//x’/{f——— Fon Oe b
(u»uo-'“‘ -~ /Cr//éé— R > P ov et




C =30+ 114 =144 m? b sl

b 3
f; U E 3 57 o H4ob m (,rg’f’/loéf

,fz/,vaﬁj ) <((/})‘//" o=/ (LJG))MJUJJ’L CJ_;) J)&*‘JL‘)"U}D @

i s 4 %UL/J)/W L=t )l ’M/J/ ot So=ho

L) Q»L./)izs-olpr é/ﬂ_ﬁpo’/ﬁ/ (uw/ Mpfau//o—wt -, b

@

|2+311 : Pc ,’.__/g/él;/ﬁ,y/
PT i o) Q/’,LJ/

; its flos)_platd 2

\ | 124311+ C S
/
R C= RA
A/ 7
R v f-028

Minp

127( f+e) e -o008¢ g/
Vo= ’faak/(

QU

R”’“h / —> C A ot (8

,w,;gwf/;,)&;/; (/2 +311) + &
k- 2

o
) Sfa k) (12+311) 1 ¢




